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| SCIENCE

Growing of cover €rops is important to
farmer because it

A. Increases bacteria in the soil

B. Makes the soi] soft

C. Prevents loss of soil moisture

D. Adds nutrients to the soil

The following are four stages of ‘ .
development ofg baby durin gpregnancy. Which

one is correctly arranged?

A . Egg - Zygote — Embryo —Foetus

B. Egg — Foetus — Embryo — Zygote

C. Foetus —s Zygote — Embryo — Egg
D. Embryo — Foetus — Egg — Zygote
The exchange of oxygen and food between
the mother and the developing foetus takes
place through a structure called

A. Amniotic fluid -B. Umbilical cord
C. Uterus D. Placenta

A. It has large leaves to catch rain,

B. It climbs on other plants.

C. It sheds leaves during dry season

D. 1thas small leaves and large succulent
Stems.

Which of the following characteristics is not

true about hydrophytes?

A.. Have thick and waxy cuticles.

B. Broad leaves.

C. Many leaves.

D. Shallow root system.

The figure below shows an open circuit,

Which one of the following cannot be used to

make the bulb light when placed in the gap.

A. Water B. Graphite

C. Aluminiym D. Glass rod.

Which of the following about both birds and

reptiles is not true )

They both lay eggs

They are both verterbrates

They are both warm blooded :

- Birds are warm -blooded and reptiles are
cold blooded
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Which-one of the following materials can be
attracted by a magnet?

A. Steel spoon. B. Copper coin.

C. Aluminium. D. Brass rod.
Below is a diagram showing the beak of a bird.
The beak is adapted for ‘ '

B. nectar

D. food in water
Which of the following is not an advantage of
organic manure? g
A. They improve water holding capacity.
B. They contain Wweedseed. o
C. Improve soil texture,
D. They are cheap, - L '
Which of the following is not a sign of
Anaemia? ;
A. Rapid heart beat.
B. Weak bones.
C. Pale and whitish tongue.
D. Frequent headache.
A group of pupils wanted to compare the rate
at which water rises up the soil, They set up
the apparatus as shown below.

Biiro tubes

cotton woo! ) i

From the results obtained by the pupiis the
cotrect conclusion could not be made because
A. The pupils placed both -tubes in the same

basin
B. Used identical biro tubes
C. Used equal amount of soil in both biro tubes
D. Used the same type of soil -
Which of the following is an advantage of
hardwater .

AL wastes soap
.-B. forms fur on pans

C. helps in bone and teeth formation

--D. forms scales in boilers
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